
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).
- Looking at them as little as possible, answer the questions.

The answers of the questions of L3 should be handed to me at the beginning of Monday’s lecture of March 2nd. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Reserve some hours (perhaps 3) every week to answer the questions. If you answer them properly, then you’ll have to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

Please write L3 in bold at the beginning of your answers.

Ch. 2: Static Keynesian macro
1.The determinants of the level of aggregate C

1.a) How can it be argued that current consumption may depend not only on current income but also on future income?
b) What is the permanent income?

c) In which case would C not merely depend on but be equal to permanent
income?
2.  a) Write the Keynesian C function?
b) Why should current consumption depend essentially on current income and not significantly on future incomes?
c) What is the marginal propensity to consume (MPC) out of current income?

d) “the MPC out of current income is much higher for PKs than for NCs and NKs”.  Do you agree? Explain.

3. During the Portuguese recession of 2012-13, people did not use savings accumulated in the past to limit the decline in consumption. Why? Weren´t people aware that incomes would eventually recover?

4. Why do predictions of the future rely strongly on the present and recent past?
2. Can market mechanisms solve unemployment?
(This is the title of a section of Chapter 2; you’re not supposed to answer it!).
5. What is the fundamental question of macroeconomics?

6. According to the NC school, how do market mechanisms solve involuntary unemployment?
7. Why is there unemployment according to the NC school? Illustrate in a graph.

8. Do market mechanisms solve involuntary unemployment according to the NK school? Explain. Illustrate in a graph.
9. According to the NK school all unemployment is of the involuntary sort. Do you agree? Explain and illustrate in the previous graph.

10. Why did nominal wages fell in the presence of unemployment before WW2 and have ceased to fall since then?

11. “Even if nominal wages fell in the presence of unemployment, firms would not hire more workers.” Do you agree? Explain.
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